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ST. GREGORIOS HIGH SCHOOL,
PRELIMINARY EXAMINATION, JANUARY 2019
BIOLOGY

30 MARKS

You w:!] not be augwed to write during the first 15 minutes. This time is 1Q bc spend in reading ke Question. Paper

The time given at the head of this paper is the time allowed. for writing the answer.

Atiempt ail quesnom Jrom Section I and any four questions from Section IT. The intended marks for quesnon.r or

paris of questions are given in the brackets [ ]

Question 1

SECTIONI (40 MARKS)

Attempt all questions from this Section.

(a) Namethefollownng ‘ - R - - © . [5S MARKS] -

i

ii.

“iv.

i, -

V.

. The fluid that provides protection and nounshments to the cells of the brain.

The part of the kidney contammg the Bowman’s Capsule.
The phenomenon that is observed in Nasturtlum in the early hours. -

. The process by which the wooden doors swell up

The Radioactive waste that caused the severe damage in Mayapuri Delhi in 2010, :

(b) Choose the odd one out of the following terms given and name the cwtegornes to wh:ch the others

belong

RO

- [5 MARKS]
Wisdom tooth; Vermiform Appendix: F'orei"mbs Pinna o

Thmness ofleavcs Narrow leaves Numerous stomata; More chloroplast
Oestrogens -Progesterone; Testosterone Prolactin
Bile pigments; Urea; Albumm, Glucose-

Skin Pig"nﬁentatic_n; loss of weight; hypoglyca emia; hyperglycaemia

(c) Match the items given in Column A with the most approprlate ones in Column B and rewrite the

qorrect matching pairs.

_ S _ [S MARKS]
ColumnA . Column B '
i.  Cushing Syndiome - * Abscisic Acid
ii. .~ Hypoglycemia Gibberellins
.‘-“ s . / ' . ) N
i Myxoedema Hyposecretion of insulin
iv. lCIosing'of Stomata . Hypersécretiéh_of thytoxine

, v : R.ipening of fruits Hyposecretion ofthyroxine
Ethylene

Hypersecretion ¢ finsulin

A
- \0\ Woa e o N

Osteoporosis
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2 .
(d) Choose the carrect answer from each of the four options given be!ov./;'
i. DODTis ;
' a. non-degradable pollutant
c. green-house gas -

[5 MARKS)]

b. degradable pollutant
d. none of these

ST The specific function of light energy in- lhe process of photosynthes's isto

a. Activate Chloroplast Tt b, Spiicwater _
c. Reduce CO, . d.Synthesis Glucose
fii.  Niss’s granules are found in
a. Muscle Cells Co “b. Nerve Cells
c. Blood Cells . : . d.Bone Cells

iv.”  Function of Eustachian tube is to '
a. Keep-middle ear in proper place- |

b. Provide air to ear ossicles
c. Equalise air préssure in middle and external ear

d. Keep of dirt from middle ear
V.~ Nephron discharge their ufine at the A
' a. Urethra

b. Renal Pelvis
, €. Urinary Bladder - ~

_d.Renal Pyramids.

(e) State true or false. Rewrite the correct statement by changmg the underlmed words of the
) _statement

i.  Neutrophils produce’ ant:bodles
i

[5 MARKS]

The growth rate is the-pumber of :ndlwduals persquare kiloma tres at any given tlme
~iii. . Henle’s loop helps in absorptlon of Potassium and Chloride i ions.

FAVANE -During dark adaptatlon the regeneration of iodopsine occur.
v Gibberellins inhibits apical dominance. .

(f) * Complete the following: .- ,

: - The zygote undergoés l_____ and forms a hollow ball of numerous cells called
which gets fixed to the ___iil___- of the uterus by the process known as " i'(/__. The
developing embryo is connected by the __v__ tothe __vi____ . Theterm of developmem of 3
the embryo in the uterus is called _vii___whichlastsfor ___ wviii - days ‘Under the -

-influence of the ix the uterus undergoes contraction which results in

(5 MARKS)
i

X

(8)- leen.below are 5 sets of terms. In each arrange and rewrlte each sel so asto beina Ioglcal )
sequence without changing the glven first term. - - 5 MARK_S]_

Example: Mouth;- Large intestine; Oesophagus; Stomach; Small intestine.
~ Answer: Mouth; Oesophagus; Stornach; Small intestine; Large intestine.

o

‘Afferent arteriole; Efferent arteriole; Glomerulus; Renal vein; Vasa Recta- S '
ii.

Imbibition; Root pressure; Transpiration; Capillarity; Osmosis. ' ' ‘ §
_Forebrain; Hypothalamus; Cerebellum; Cerebrum; Medulla Oblongata
" Puberty; Follicular phase; Luteal phase; Menstrual phase; Ovulatory phase

' - v.  Conjunctiva; Pupil; Lens; Aqueous humour; Fov entralis. \,
ARMIRNCR P aepp | 39 ) | -
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[5 MARKS)

identity the given chromosome éhown
Wh.tis the significance of the process snown?
In which type of division

o o

O

doesthe above process occur
. name the cell
d. How many daughter cells are produced atthe’
end of the division and how many =
‘chromosomes do they contain?
e.. Why should the cell mentioned by you in
‘ question h (c-ii) undergo.such a division?

© SECTION II (40 MARKS)

" Attempt any four questions.from this Section. '

Question 2
';{ a. . [5MARKS]
E -
1. Identify the phasé shown and giv'e the unique features observed.
2. Labelthe parts shown - o .
3. Drawaneat diagram to show the phaso prior to the given phase.
4. Give the characteristics of the phase that proceeds the given phase.
: ~ 5. How does cytokinesis differin plant-and animal cell?
i b. Explain the following terms: = Ai, 7 “){ Is MARKS]
= : 1. Biomedical waste S Sht;p '- a = 0T e Gt ,.M, - ,
- " 2. Mortality . Thahe ' L EEN
3. Colour blindness J A S V151 g___j
4 _'-Pu\se - _ Mob °3..uuuﬁu0: ' ,'
5. Alleles ' ' '
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Questib 3 -

Vv

a.

BB WwN e

b. Gi\-/e-the location of

1

2.

o gt

Questlona

'Semmlferous tubules

Identify the given diagram

‘Label the parts.

Give the functions of part X and location of part Y- L
What is semen? Where is part 1 located and why?
Why are sperms produced inlarge numbers?

Chloroplast
Lens of eye

Eustachian tube = : o .
Pituitary - L

. Give appropnate b|olog|cal or technical term for the followmg

1.

w.ca:us:w"P‘.LOrv

| 10 Layer cf eye, whlch prevent reflectmn of hght

An exa'nple of mutagnn whose effect can be seen generation after generatlo.n

" The solution in which the strips of potato will appear shnvelled
“Respiratory openmgs found on the stem of woody plants.
. Enzyme that activates prothrombin. '

The part that converts sound waves into mechamcal vibrations. -

‘Conversion of adenosine dlphosphate into adenosme tr:phospha?e

Substances that increase the formation of urine.’
Hormones that stimulates the sympathetic nervous system.’
Agas responsnble for greenhouse .e ect.

b. Givereasons:

w s e

Cro-Magnon man is sald {obe the direct ancestor of the modern man.
Ozone layer depletion is hazardous to human health.

We gargle with saline water in case of throat infection.

Transpiration is a vital process for plants. ‘

Need to limit the size of family-is mOan ever.

e —

[5 MARKS]

© [SMARKS]

(S MARKS ]

- [5MARKS])
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[S MARKS] -

What is the aim of the given experiment?

‘Give your observation and the reason for your observatlon at the end of the experiment.

What are the:steps followed to test for the presence of starch (with reasons)?
Give the overall equation for the above physiological process demonstrated.

. In whlch specfrum of light does maximum photosynthesns occur7 '

b Gnve the dnfference between.

[5.MARKS]
1. Stromaand Stoma (IOL&an) _ - -
== 2: - Australopithecus and Homo erectus (cranial capacity)
3. lIris and ciliary muscle (functions)
4. Gigantism"and Acromegaly (symp’&oms) ,
5. Diabetes Mellitus and Diabetes Insipidus (cause) -
Quastion 6 }
RV - -
2. A pea plant having yellow round seeds is crossed with green wrinkled seeds ~ [SMARKS}H

<

1.~ Givethe nhenotype and genotype of the F1 generation of the off5pr|ng
2. Mention the possible combination of gametes that can be obtained from F1 hybrid plant.

Explain the law pertaining to the above type of cross.

4. What is the phenotypic ratio of F2?

5. Mentnon phenotypes of all the offsprmg obtained in the F2
b Give the function or useof o L ANW‘ LJEZP@T - 5 MIARKS]
. 1. Placenta g el B Shop o. . ..43' st Utsav, o
« R Adrenaline | - Thahh ittt o201 wdiva ali () Y
3. Organ of Corti . NVurabai - 400 101. '
4. Corpus callosum = . - ob, 9821263050: - '
5. Potometer, e S
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Questl/on 7 . o T
- ‘a ‘ START OF EXPEH""‘ENT . END -OF E)i | RIMENT - . [5 MARKS]
: ———— supporting wires — ' '

" germinating
" bean seeds\3%

1 Defme the troplsm shown by +he part; marked A and Bin the given ﬁgure
~ 2. Namethe tropic movement shown by the shoot and root. :
.3.:’.What is the observation'seen at the start and at the end of the exper:menﬁ
4. Explain thé term tropic movément.:
5. Give the full form of IAA and ABA.-. :

ek | - - [5MARKS]

1. ldentlfy the type of blood that goes to part land blood vessels that enters part 2
2. Name the type of circulation between intestine and liver and give the peculiarity of the
~ blood vessels between the two." o
- 3.- Why is the blood taken to the liver first before lt enters mto the mam cnrculatlon'?
4. Draw a neat labelled diagram of the blood vessel enlerlng part 1.
5. What is the main component of the blood that leaves the llver?

-n, e o mIOVT (_/j
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